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2A: UHIS
g NE1s FUAH I/t st
el EOIME YA S (B9 ®R)
= _ = s
SA - - ERA(B) - NTAY - BES 0f o il Hl D52
UE1sS 167,734 142,828 14,906
UFIs F=Ldg Jgrdst 138,190 123,924 14,266
FOHEH 22U s 138,190 123,924 14,266
=X 2EEX 12,160 11,840 320
201 fEt2E | 12,160 11,840 320
01 AtR 2t 2l | 12,160 11,840 320
OF2URNXBE SA-E 8,960,000& 8,960
OFURNXAAS 3g&A ¢
10,0003 «25E 12 x90% 2,700
OEBEE MH S 500,000 500
S8y g5 N2 103,170 92,920 10,250
301 gEtE A= 103,170 92,920 10,250
05 8% -0 -t¥Es24= 103,170 92,920 10,250
osgd=¢g 200,000& »29H »12& 69,600
Os&d0=s 200,000& x29H 23| 11,600
Os&zo &g 20,0003 x29%H #2433 13,920
oerd=2d=s 25,0002 x161& »23] 8,050
BAMNRX R A2 18,210 15,444 2,766
201 LBt2 S 14,500 14,850 A 350
02 3524l 14,500 14,850 A 350
O& At 2el 270
dotx Fa 170,000 170
=83 34 100,000& 100
OF A &bl 2,352,000& 2,352
O3M 22 =X 1,258,000& 1,258
oxtg |X 2,200,000& 2,200
O3MN &Iz 6,500,000& 6,500
OFA & - ot 8 600,000 600
OFA 2R =82 110,000& =122 1,320
401 AIEHIZ 2 THYI 1,400 0 1,400
01 A€ dl 1,400 0 1,400
OFQTXIZAA =AI £X 1,000,000& 1,000
Odgll old &X 400,000& 400
405 THatFH S 2,310 594 1,716
01 ML ESFHSH 2,310 594 1,716
OJfdI WA 110,000& 110
Odtdl &X 2,200,000& 2,200
EEs =24 4,150 3,420 730
201 fEt2E | 3,420 3,420 0
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N = 0l & At & M A

20178 & 2014 LB3H WUHIS ~ 2H2S

SA: DHIS
M NEHIs FLUMH Jlgr2 st
ol EOIME 2 UHA S CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
MIPSETES 161,051 155,125 5,926
NE3s F=LHH Jgr2st 142,307 137,021 5,286
FodH 2EHA S 142,307 137,021 5,286
FURXE 22X 28,800 28,480 320
201 Yot Y| 14,600 14,280 320
01 At 22l 13,160 12,840 320
O8I XXz = A= 8,960,000 8,960
OFQURXAS =g
0003 252 x122] 90% 2,700
oz M# 500,000& 500
OXe M2z 2 1,000,000 1,000
02 =24l 1,440 1,440 0
OX2EMZ 2HY AEZ 120,000 «12& 1,440
301 et d = 11,200 11,200 0
NMIIEEd=s 11,200 11,200 0
Oz M2 Xt A2y
11,200, 000& 11,200
405 XHoHF S HI 3,000 3,000 0
02 =M=l 3,000 3,000 0
OXSETM2 TAHATLH 3,000,000& 3,000
gt 2= X 78,160 72,880 5,280
301 Lpte &3 78,160 72,880 5,280
05 8% -0 -tH¥ESE243 78,160 72,880 5,280
osd=¢ 200,000& x22H x12& 52,800
OsZ&dNH= 200,000& *x22H *23| 8,800
Os&3slo &+ 20,0003 22 243 10,560
OgEE &3 25,000& x120Y8 *23| 6,000
EAMRA & e 29,437 31,941 AN 2,504
201 et | 22,342 23,196 1854
02 =224l 22,342 23,196 A 854
OF A2zl 1,550
dotx A 650,000& 650
SY3 Fa 300,000 300
Sl HED ]RA 600,000 600
oxg |X 2,200,000& 2,200
OFAM HEASH 1,786,000 1,786
OFA 22 | 3,914,000& 3,914
OFM HIIZ 9,000,000& 9,000
OFA RUER =3 1,692,000 1,692
OEM NESFRLREES 300,000& 300
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3 EES
QlME 2FLHA S (&)
A ZE a9 (3) - HRAY - BYS Ol &t o San HmEET
OFA & -ot=&2 900,000& 900
OAAE RAE=> 1,000, 000& 1,000
307 gl2tol & 1,980 1,980 0
05 BIZHRI & 3 1,980 1,980 0
O2+=FstAl4 222 165,000& = 12& 1,980
401 Al HIZ 201 8] 2,885 0 2,885
01 A& HI 2,885 0 2,885
O35 224 HtE ZAt 2,885,000 2,885
405 XtAHE SHI 2,230 6,765 A 4,535
01 AL EFH S 2,230 6,765 A 4,535
Oz=lo Hol2 2AX WH 160, 0002 *8H 1,280
OYW&n wiH 500,000& 500
Ox&esg =g 450,000& 450
AEs 24 5,410 3,420 1,990
201 Let24d] 3,420 3,420 0
01 At 22/l 3,420 3,420 0
OSIAAMA T = 540,000& 540
OcdlolMEgy &3 600,000& 600
OdoIMESH EY 850,000& 850
O=AMI EY 950,000 950
oA ElH 480,000& 480
405 XHoHF S HI 1,990 0 1,990
01 AL ESFH S 1,990 0 1,990
O 23J uH 1,990, 000& 1,990
2 Egd gs N2 500 300 200
301 L2 A F 500 300 200
11IIEEAS 500 300 200
OO0 ey g3 I 24 500,000 500
HYR2FZH (WEH3S) 18,744 18,104 640
24l 18,744 18,104 640
=224l 18,744 18,104 640
201 et 9,444 8,804 640
01 At 22l 6,644 6,004 640
ORNESE+=EHl 3,620,000 3,620
OJlege+=8d Sl 3,024,000& 3,024
02 =224l 2,800 2,800 0
(OF 2= 2,800,000 2,800
203 YR =] 9,300 9,300 0
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N = 0l & At & M A

20178 & 2014 LB3H WUHIS ~ 2H2S

2AM: WH4S
M DWAS FOME JluLa
el EOIME YA S CEEEED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
NEH4s 125,120 118,415 6,705
NUF4s FRUHH J|g-2 5t 106,976 100,851 6,125
FodH 2EHA S 106,976 100,851 6,125
FURXE 22X 11,125 11,840 AT15
201 L2l 11,125 11,840 AT15
01 At 22l 11,125 11,840 AT15
O XXz T2 A=Y 7,925,000 7,925
OFOINXFANE BoI&A 45
10,0003 x25H x123] *90% 2,700
oz M# 500,000& 500
= -8y g3 N 74,330 69,290 5,040
301 et 8= 74,330 69,290 5,040
05 SE -0 -EtEEs28E 74,330 69,290 5,040
Os&E=+¢ 200,000&*21H x12& 50,400
Os&ddN= 200,000& x21E +23| 8,400
OsHAFHE 20,000 *21H » 128 23| 10,080
OptEE 43 25,0003 x109Y #23| 5,450
FAMRA & X2 14,601 16,001 A 1,400
201 Let24d] 13,901 15,301 A 1,400
02 =24l 13,901 15,301 A 1,400
O&E A 22l 350
PSR ENPSEN 150,000& 150
H HEIIRX 200,000& 200
Ooxg |X 2,200,000& 2,200
OFAL HEAZH| 1,400,000 1,400
OFEA A2 KX 1,561,000& 1,561
OFAL HIlg 5,000,000 5,000
OBM & -ot=k2 1,500, 000& 1,500
OFA REH =5 1,440,000 1,440
OFAL 3 AH] 450,000& 450
401 Al HIZ 201 Y] 700 0 700
01 A& HI 700 0 700
O &g WA &X 700,000& 700
DR 2 6,420 3,420 3,000
201 2et2 Y| 3,420 3,420 0
01 At 22l 3,420 3,420 0
OYJKNA M= 540,000& 540
OdolM=ZeHeH &g 600,000 600
OclolM=Zg s &Y 850,000 850
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= A
A & O &8 A & Ml M
20179 & 20ia L3 UFIS ~ ZH2S
SN gels
d: gos FUMdH JlerAst
Sl FOMESY LA CERED
= — = s
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
gels 204,473 185, 143 19,330
gels FedH Jlgt2 st 180, 181 162,707 17,474
FOMEH=2E Hast 180, 181 162,707 17,474
XXz 2HEX 12,160 11,840 320
201 fEt2E | 12,160 11,840 320
01 AtR 2t 2l | 12,160 11,840 320
OF2UXXa T2 08 A=Y  8,960,000& 8,960
OFUNXSI A slolas 4o
10,0003 x25E x122] *90% 2,700
Os=2= M 500,000 500
S8y g5 N2 128,830 120,190 8,640
301 LetE = 128,830 120,190 8,640
05801 -tE3Es243 128,830 120,190 8,640
osgd=¢g 200,000& »36H »12& 86,400
Os&d0=s 200,000& *36Q *22| 14,400
Os&zlo &g 20,0002 362 12& +23] 17,280
oerd=2d=s 25,0002 2158 »23] 10,750
BAMNRX R A2 33,951 26,137 7,814
201 LBt2 S 14,854 14,894 A 40
02 s5=9Hl 14,854 14,894 A40
O& At 2el 700
dotx Fa 200,000 200
=83 Fa 200,000& 200
Sl eI 8 300,000& 300
oxg !X 3,200,000& 3,200
OFAMN HgAHSH| 1,200, 000& 1,200
OFAL 2= RX 1,405,000& 1,405
OFA &HIl2 6,000, 000& 6,000
OBM & -otx=kx 700,000& 700
OFA REH =82 1,649,000& 1,649
401 A2 HIL 2 TH Y| 14,700 9,918 4,782
01 Al&H 14,700 9,918 4,782
OSAH 11 &X 14,700,000& 14,700
405 THatFH S 4,397 1,325 3,072
01 ML ESFHSH 4,397 1,325 3,072
O2& Ualola detyIl wx 3,000,000& 3,000
OSAags 2201 WA 1,397,000& 1,397
oEET 2y 4,740 4,240 500
201 fEt2E | 4,740 4,240 500
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N = 0l & At & M A

20178 & 2014 LB3H WUHIS ~ 2H2S

SN ate
r

B ohE ERE!
ol EOIME 2 LHA S CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ste1s 150,440 150,232 208
Stetis =RIdH J1er2 st 130,020 130,572 A 552
FodH 2EHA S 130,020 130,572 A 552
FURXE 22X 11,944 10,880 1,064
201 L2l 11,944 10,880 1,064
01 At 22l 11,944 10,880 1,064
O=x2 XXz T2 ZA=Y 8,960,000 8,960
OFLUXXAAS sdFA =& 2,700,000& 2,700
o222 M 284,000& 284
s -8y g3 N 88,450 82,450 6,000
301 et a3z 88,450 82,450 6,000
05 8% -0 -tHESE43 88,450 82,450 6,000
os&=+¢ 200,000& x25H x12& 60,000
OsHaNH= 200,000& 259 x23| 10,000
Os&3lo &= 20,0003 *25% 23|+12& 12,000
Oostazgaa 25,0003 1299 *23| 6,450
EAMRA & e 22,396 32,702 A 10,306
201 Let24E] 13,196 12,496 700
02 =224l 13,196 12,496 700
O&E A 22l 500
dsotx A 100,000& 100
SY3 & 100,000& 100
o - AR PN 300,000& 300
Oxg | ,400,000& 3,400
OFAL 2= |X 1,376,000 1,376
OFA HIlg ,700,000& 5,700
O&AN & -ot=kx 540,000& 540
OFA RUER =3 1,680,000& 1,680
401 A& HIZ 201 Y] 9,200 A8,619
01 A& HI 9,200 A8,619
OFEAL 2SS FHIZA ,200,000& 9,200
QIR 2 6,730 2,490
201 et 4,240 0
01 At 22l 4,240 0
OYJKNA M= 640,000& 640
OdolM=ZeHeH &g 600,000 600
OdoIdERH &Y ,220,000& 1,220
O=EAIIENH ,140,000& 1,140
OBMAEH 640,000& 640
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N = 0l & At & M A

20178 & 2014 LB3H WUHIS ~ 2H2S

2 A GHEt2
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Sl FOIME SYLHAE (S &2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
StEt2s 191,235 174,429 16,806
ottt2s FQMEH J|gHY S 167,713 154,169 13,544
FOHEH 2IGLLHA S 167,713 154,169 13,544
FOIXE 292X 28,600 30,200 A 1,600
201 YBr2 Y| 14,160 15,760 A 1,600
01 At 22l 14,160 15,760 21,600
O=x2 XXz T2 ZA=Y 8,960,000 8,960
OFURXAAS Fo&N ¢
10,0003 x25H x123] *90% 2,700
OsE= M 500,000& 500
OXeT Mz 29 =ZH| 2,000,000& 2,000
301 LBt A 11,440 11,440 0
MIEE243 11,440 11,440 0
OXSEMZ NEASAX AH 24
11,440,000& 11,440
405 THabF S| 3,000 3,000 0
02 S A7l 3,000 3,000 0
OXSZTN2 TA7LHI 3,000,000& 3,000
CEtE 23 XNE 105,600 98,400 7,200
301 LBt A 105,600 98,400 7,200
05 S& -0 -2 105,600 98,400 7,200
OF=FSEt=y 200,000& *30H «x12& 72,000
osddd= 200,000& 30 #23| 12,000
Os&slo &2 20,0002 30 «12& +23| 14,400
Oet¥EANZ 25,0003 *144H +23| 7,200
AR 2 xzg2el 28,773 21,029 7,744
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H- I ]I ,000& 500
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O&EAMN Hd=2 X ,000& 2,083
O&AN A= ,000& 10,800
OFA & -ot=&2 ,000& 900
OFA ROER =3 ,000& 1,769
401 Al Bl 28I 4,000 0 4,000
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A & 0l & AF 2 E A A
20179 = 20la Ler3H WAEIS ~ 2E2S
AN MEIS
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el EOIME 2 UHA S (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
MBS 185,313 160, 664 24,649
dE1Es FRMH JIgt2 st 163,061 139,232 23,829
FodH 2EHA S 163,061 139,232 23,829
FURXE 22X 14,210 11,840 2,370
201 L2l 14,210 11,840 2,370
01 At 22l 14,210 11,840 2,370
O XXz T2 ZA==E 11,010,000 11,010
OFURXAAS Fo&N ¢
,000& 253 «123| *90% 2,700
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= -8y g3 N 113,510 105,830 7,680
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05 SE -0 -EtEEs28E 113,510 105,830 7,680
Os&E=+¢ 200,000& *32H x12& 76,800
Os&ddN= 200,000& 32L& *23| 12,800
Os&3lo &2 20,0003 *32Z 128 »23] 15,360
OptEE 43 25,0003 1718 #23| 8,550
HARK 2 Hy2el 28,441 14,892 13,549
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02 =24l 14,849 14,199 650
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SlEET 2y 6,400 6,370 30
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N & o & AF & H A A
20179 & 204 LESIH WH1IS ~ d&E2S
SN TS
M ME2s FOHEH JIgH2 st
Sl FOIME SYLHAE CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
AE2S 124,274 128,239 A 3,965
AME2E FQMEH JHY S 105,130 109,735 A 4,605
FOHEH 2IGLLHA S 105,130 109,735 A 4,605
FOIXE 292X 11,125 11,840 AT15
201 L2l 11,125 11,840 AT15
01 At 22l 11,125 11,840 AT15
OFQUXXS T2 AALY 7,925,008 7,925
OFUNXSI A slolas 4o
,000& 253 x122] x90% 2,700
OsE= M 500,000& 500
= -8y g3 N 74,330 69,290 5,040
301 L2 L= 74,330 69,290 5,040
05 & -0 - BHEESENS 74,330 69,290 5,040
Os&E=+¢ 200,000&*21H x12& 50,400
Os&ddN= 200, 0003 x21H »23| 8,400
Os&3lo &2 20,0008 218 23| 128 10,080
OptEE 43 25,0003 x109Y #23| 5,450
FAMRA & X2 15,755 24,885 A 9,130
201 Let24d] 15,755 16,685 A 930
02 8323l 15,755 16,685 A 930
OF AL 22 500
Y43 A 200,000 200
H- I R 300,000& 300
Ooxg |X 2,200,000& 2,200
O&EAN HEAHZH 1,500, 000& 1,500
OFA 22 |X 1,836,000& 1,836
O&AN HIl= 6,000,000 6,000
OFA & -ot=&2 620,000& 620
OFA REH =5 1,770,000 1,770
O&F=D Xtz 40,0003 *2CH 128 960
O&EA S3I& bl 369,000& 369
ple D 2y 3,420 3,420 0
201 et 3,420 3,420 0
01 At 22l 3,420 3,420 0
OSIJAMA T 2 540,000& 540
OdoIMESH &8 600,000& 600
OdoIMESH EY 850,000 850
O=AMIIEH 950,000& 950
OWAEH 480,000& 480
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N & 0l & AF & & A A
20178 & 2014 LB3H WUHIS ~ 2H2S
SN ZYIS
3 ZE1s FUHH JIgtH g
Hel: FOME 2SUHAS (22 &d)
= _ = s
SA - - ERA(B) - NTAY - BES 0f o il Hl D52
1S 126,756 115,157 11,599
ZE1s Fodg Jjet2st 107,322 96,383 10,939
FOHEH 22U s 107,322 96,383 10,939
=X 2EEX 12,160 12,140 20
201 fEt2E | 12,160 11,840 320
01 AtR 2t 2l | 12,160 11,840 320
OF2UXXa T2 08 A=Y  8,960,000& 8,960
OF2UXNXAE 3A&FA =& 2,700,000 2,700
Os&E= HH 500,000& 500
s -2 g5 N2 67,220 62,660 4,560
301 LEE A S 67,220 62,660 4,560
05 S& -0 -t3egs243 67,220 62,660 4,560
Oos&+4< 200,000& x19E «12& 45,600
Osgdo=s 200,000& »19Y »23 7,600
OS&z F4&+=g 20,0003 198 «12& »23| 9,120
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BMEX R RE2el 23,522 17,863 5,659
201 fEt2E | 15,122 15,346 N 224
02 832gHl 15,122 15,346 N 224
O&Ar2tel 600
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S83 Fa 100,000& 100
Sd -yl /X 300,000 300
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OBM & otz 800,000 800
OF A 23 HA 1,660,000& 1,660
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401 AIEBIZ 2 CHYI 1,300 0 1,300
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SN BEYLS
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= _ = s
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s -2 g5 N2 126,450 118,050 ,400
301 LetEa = 126,450 118,050 ,400
06 S8 -0l -t¥ESE2d= 126,450 118,050 ,400
Oos&+4< 200,000& »35E «12& 84,000
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Hl = 0l &F AF & & Al
20178 = B3l U E1S ~ ZdE2S
2N
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S H &9 UWas (e &)
A -2 (SH) - HRAY - BES Ol A+ Husz
AR 262,039 241,234 20,805
Ciis ¢ J1ety 5t 229,411 209,886 19,525
LH & 5 229,411 209, 886 19,525
3 298X 14,160 13,840 320
Ast2 A Y| 12,660 12,340 320
At 22| 12,660 12,340 320
OFQIXXIS ZT2as 2A2=g  8,960,0002 8,960
OFANXAAS sloEs 22
10,0002 *25% * 123] *90% 2,700
OEEZ2 M= 1,000,000 1,000
ABtE A2 1,500 1,500 0
BALAIH| B A2 1,500 1,500 0
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OS&3|9 a#A4g 20,0008 25| «52% 122 24,960
Osratg Az 25,0002 «332% +23] 16,600
HASA ¥ Xae 21,481 14,956 6,525
201 L2 15,481 14,956 525
02 222 15,481 14,956 525
O& AL 22| 300
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Ctth2s 260,790 248,850 11,940
(H2s =0IAdE DJIBHAS 232,790 221,890 10,900
FOIME S2IUHA S 232,790 221,890 10,900
FOXX3 2IEEX 67,520 50,640 16,880
201 2Et2Hy| 17,120 16,200 920
01 AP 2t 2] H| 16,520 14,760 1,760
OF2XX3Z & PAPNE-3= 8,960,000 8,960
SEXID B EL! BN L
10,000& 252 *123] *90% 2,700
OEEZ2 HZ 500,000& 500
OS2 A2 & 29|
35,000& x83| x12& 3,360
OS2 A2 2HEEH| 1,000,000 1,000
02 2% H| 600 1,440 A 840
OS2 A2 0l A2 S 50,000& x12& 600
301 et A= 22,400 11,440 10,960
09 SHAIAHI B A2 10,000 0 10,000
OF0 XXz EstE2)d 2 (a2
3l) 10,000,000 10,000
11 JIEtE A2 12,400 11,440 960
OXST A2 X3S ALAH A HI 24
12,400,000 12,400
401 AlEHIZL 2 0HY| 25,000 20,000 5,000
01 Al&H| 25,000 20,000 5,000
OXstzz ™ Hi & & H| 5,000,000& 5,000
O Ttz sSEMA 5,000,000& 5,000
OsSEA Jietst& oz 15,000,000 15,000
405 XHAHFEIEHI 3,000 3,000 0
02 & A 2| 3,000 3,000 0
O&2E2 NP 3,000,000& 3,000
s -t s 1 131,630 122,990 8,640
301 et A= 131,630 122,990 8,640
DS ESH -0 -BHEEESEM= 131,630 122,990 8,640
OS¢ 200,000 »36H «12& 86,400
Os&ANHZ 200,000 x36H «23| 14,400
OSHF 9 EHAG 20,0003 36 x 128 23| 17,280
Ot A= 25,000 x271H x23| 13,550
HASX & 2 28,900 43,720 A 14,820
201 2Et24A Y| 26,900 22,070 4,830
02 Z2=2=24%4| 26,900 22,070 4,830
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2AM: CU2s
M Oi2s =2dd Jl
Hel: FOME 2SUHAS (Sl & &)

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OFAMNSKX 500
-=2Y%3 34 200,000 200
W e X 300,000 300
oxtg /A 3,200,000 3,200
OFAN HZE X 2,450,000& 2,450
Ooxg BZ 1,500,000& 1,500
O&AN MIE 15,000, 000& 15,000
OFA & -8t a2 1,000, 000& 1,000
OFEA ROEE 22Z (A, H2TAHS)

3,000,000 3,000
OFAN DNERLEE2 250,000& 250

401 Al HI 2L 2 0HHI 2,000 20,800 A 18,800

01 A& HI 2,000 20,800 A 18,800
Os&e Wil 2,000,000& 2,000

QAT 2Y 4,240 4,240 0

201 et A | 4,240 4,240 0

01 AFR2t2ldl 4,240 4,240 0
O MA H& 500,000& 500
OdiolEZely EH 900,000& 900
OdoldEEH EY 1,020,000& 1,020
O=AIENH 1,020,000& 1,020
OoOHAEYH 800,000& 800

F0 s 25 KA 500 300 200

301 dEtE A= 500 300 200

11 IIEtE A2 500 300 200
O=0l sy g5 I 24 500,000& 500

HHSHAY (CU2S) 28,000 26,960 1,040

Jl2& bl 28,000 26,960 1,040

Jl2&| 28,000 26,960 1,040

201 2yt 2 Y| 17,290 16,250 1,040

01 At 22l bl 12,290 11,250 1,040
ORNM2ds+2H| 7,250,000 7,250
OJI2g2+3 2| 5,040,000& 5,040

02 53294l 5,000 5,000 0
ORE=z 5,000,000 5,000

203 QiR =AY 10,710 10,710 0

01 J| 222G R=AH| 7,110 7,110 0
OJ|#2dggdF=a| 7,900,000& *90% 7,110

02 RIS R = XY 600 600 0
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X ZH
S =

Ctth2s

DI 2AALI(TGU2S)
el

Jl=23tl

% 8 - L
SA - HY.B(E) - NRAY - B e
OF AL S = A 600,000& 600
04 NI FAH 3,000 3,000
ORA2EIRFAH| 3,000,000& 3,000
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A & 0l & AF 2 E A A
20179 = 20la Ler3H WAEIS ~ 2E2S
SN RES
Hu: DBS FUME OB
Sl FOIME SYLHAE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
TES 112,409 79,421 32,988
TES FUMLMH J|eH2 35 95,861 63,403 32,458
FodH 2EHA S 95,861 63,403 32,458
FURXE 22X 13,960 12,680 1,280
201 L2l 13,960 12,680 1,280
01 At 22l 12,160 10,880 1,280
O=x2 XXz T2 ZA=Y 8,960,000 8,960
OFUNXSI A slolas 4o
10,0003 x25H x123] *90% 2,700
oz M# 500,000& 500
02 222 1,800 1,800 0
OFMEY |SXB4 U eS|
1,000, 000& 1,000
OQHY AEE 800,000 800
s By g3 N 37,100 34,700 2,400
301 et a3z 37,100 34,700 2,400
058 -0 -tH¥ESEHS 37,100 34,700 2,400
os&d=+¢ 200,000& *10H «12& 24,000
OsE&NH= 200,000 x 10 »23] 4,000
Os&3lo &= 20,0003 *10E 12 »23] 4,800
Oostazgaa 25,0003 869 *23| 4,300
EAMRA & e 41,051 12,473 28,578
201 Let24E] 14,051 12,473 1,578
02 =224l 14,051 12,473 1,578
O&EAt22| 345
s 257,000& 257
Y43 A 88,000& 88
oxg |X 3,200,000& 3,200
OFA 22 &X 1,977,000& 1,977
OFAL HIl& 6,000,000 6,000
OEM & -ot=k2 600,000& 600
OFA ROER =3 1,769,000 1,769
OXg S3MERES 160,000& 160
401 Al HI L 2 THHI 23,800 0 23,800
01 A& HI 23,800 0 23,800
Oz A 3t&4a FH| 23,800,000 23,800
405 TtHabF S| 3,200 0 3,200
01 AL EFH S 3,200 0 3,200
Ooolga ZIJ1E83J] A 1,600, 000& »2CH 3,200
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N = 0l & At & M A

20179 & 20 A LB H VT 1S ~ 2E2S
SM: BEIS
M AHIS FoME JlBRs
el EOIME YA S CEEEED
(o
SA BB (3H) - NRAY - B Ol At o %@i HRE2
EFSEE 169,838 180,436 A 10,598
2E1sS FOMEH Jlet2 st 146,670 157,758 A 11,088
FOIME S2IUHA S 146,670 157,758 A 11,088
FOXXE 2YBE 14,210 13,760 450
201 2Et2Hy| 14,210 13,760 450
01 AP 2t 2] H| 14,210 13,760 450
OFoXXE Tz ZAEE 11,010,000 11,010
OFCXXNPAE 3o&HNH
10,000& 252 *123] *90% 2,700
OEEZ2 HZ 500,000& 500
s - BA 25 X 111,630 104,190 7,440
301 LBt A= 111,630 104,190 7,440
05 S& -0 -t EsEAZ 111,630 104,190 7,440
Os&dsd 200,000 314 x12& 74,400
OsSHANH= 200,000 *31H x23| 12,400
Os&3 9o &EA&xE 20,000 312 x243| 14,880
OetEE M= 25,0002 1999 »23| 9,950
HASX L X2 16,390 35,568 N 19,178
201 2Bt | 15,190 15,410 £220
02 32%H| 15,190 15,410 A 220
O&E A2 1,390
Holx HA 110,000 110
=83 A 60,000 60
S ueh) KX 100,000 100
HAFEHE I & H 1,120,000 1,120
Oxg KX 3,400,000& 3,400
OFAN 22 &X 1,537,000 1,537
OFA &)= 6,420,000 6,420
OFEAN & -GS 700,000& 700
OFA ROEA 22 1,743,000 1,743
401 Al HI L 2 T 1,200 18,860 A 17,660
01 Al&H| 1,200 18,860 AN 17,660
OFA &2 WA 1,200,000 1,200
ORED 29 3,940 3,940 0
201 2et2 Y| 3,940 3,940 0
01 AP 2t 2] H| 3,940 3,940 0
OB0IJMA HMI& 540,000 540
OdlolHEgH EH 600,000& 600
OdioldEZel ey EY 1,020,000 1,020
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N = 0l & At & M A

20179 & 20ia L3 UFIS ~ ZH2S
SM: BE2E
I 2235 FUHHE JlgtH
el EOIME YA S CEEEED
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
ZH2S 122,678 111,308 11,370
Fd28 FQME J|gt2E 104,188 94,374 9,814
FOME 2gUHas 104,188 94,374 9,814
XXz 2HEX 15,250 12,880 2,370
201 fEt2E | 15,250 12,880 2,370
01 AtR 2t 2l | 14,210 11,840 2,370
OF2UXR3 = 8 ZA=E 11,010,000& 11,010
OFUNXII A 5lol&A 4o
10,0003 x25E x122] *90% 2,700
Os=2= M 500,000 500
02 222 1,040 1,040 0
OFMEY |SXB4 U eS|
1,040,000& 1,040
ga 23 A2 64,340 60,020 4,320
301 LetE = 64,340 60,020 4,320
056 8& -0 -tE3Es24s 64,340 60,020 4,320
osg¥=¢g 200,000 ~18E »12& 43,200
Os&do=s 200,000& » 18 »232| 7,200
Os¥a9 &4 20,000 x 182 %123 23] 8,640
oetd=2d=s 25,0002 x106Q *22 5,300
BAMNRX R A2 20,848 17,924 2,924
201 2Bt2 S| 12,648 13,920 A1,272
02 s3=29Hl 12,648 13,920 A1,272
OF A2zl 1,200
et Ea 110,000 110
S =g-1 150,000& 150
HALEHE N 940,000 940
oxtg !X 2,200,000& 2,200
OFA ez 698,000 698
OFAL 2= RXl 1,424,000& 1,424
OFA HI12 4,815,000 4,815
OFA & - otk & 700,000& 700
OFA REH =2 1,611,000& 1,611
401 AIEHIZ 2 CHYI 6,800 4,004 2,796
01 AlZHI 6,800 4,004 2,796
OFAL HI&HSA s 6,800,000& 6,800
405 TtatF S 1,400 0 1,400
01 HMHESHSH 1,400 0 1,400
Odt&Il W 1,400,000& 1,400
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